Rounding up or down

1. A car carries 5 people. How many cars would you need to carry 34 people?

2. Tt costs £10 to get into the museum. Tony has £85. How many people can
Tony take into the museum?

3. You need 2 slices of bread for a sandwich. How many sandwiches can you
make from 13 slices of bread?

4. A CD rack holds 40 cds. How many racks do you need to hold 78 cds>
5. A van carries 3 people. How many vans do you need to carry 26 people?

6. It costs £9 to getinfo the theme park. John had £85. How many people
can Sam take to the theme park?

7. Bags of sweets cost £6 each. How many bags of sweets can you buy for
£40?

8. A minibus carries 11 people. How many minibuses are needed to carry 60
people?

9. It costs £7 per person to eat at the all-you-can-eat restaurant. How many
people can eat for £61?
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